1.5 16 B/ \BRREEM—5E - Ken WEEA 6 B/BK - KentAEE () @/ERK? (There are 16 children

standing in a line. If there are 6 children to the left of Ken, how many children are there to his right?)

I3
bl

19

2—EEFEFERNK BHBL0EKR MRERAB6E IEHELE ? (There are apples and pears in a basket,
with a total of 10 fruits. If there are 6 apples, how many pears are there?)

A3

B.4

C.5

o
[e)]

I3
bl
-

3—EAEFEBLAKMEL - AIKMWESEEXZ 3@ - MR—HB 2L @K - BMEEFEBZ/MEALIK? (There are
red balls and blue balls in a basket. The number of red balls is 3 more than the number of blue balls. If there are
21 balls in total, how many red balls are there in the basket?)

A7

4. Miss Chan A 20 A& - it 8FI9 04 theY 4 BRRAR - BEBAKTLUSEIZAZE ? (Miss Chan has 20 books and
wants to divide them equally among her 4 friends. How many books can each friend get?)

A.2

B.3

C.4

5

o

I
i
o

5.Colin BINTEEEGAIIR - 41 - & - & - & - BN DB MEESNIRE - FBA () BEL? (Colin has four
colors of balls: red, blue, yellow, and green. He wants to choose two colors of balls to play with. How many ways
can he choose?)

16

I3
bl

6. E—#HEF 1,2, 3,4  BEHFAEMOIUEE S WASZE ? (Inasetof numbers 1, 2, 3, 4, what combinations
of numbers add up to 5?)

A.land4

B.2and 3

C.1land2and3

D.4

I3
bl

: AB

THREEMRABFIMIBRET  EV0EH () R TEHEFREER—EEREENET ? (Inabag containing

two red socks and two black socks, how many socks must be taken out to ensure there is at least one pair of the



same color? )

Ex:3

8RB HITHHT RENPER FRNEBR—HB(__ )& ? (A piece of wire is folded in half, then folded
in half again, and finally cut in the middle. How many segments of wire are there after cutting? )

BE: 4

9.Steve ¢ 1 B2 100 - fhHEE 7 ( )EZF “1" ? (Steve writes the numbers from 1 to 100. How many times
does he write the digit "1"?)

Ex.21

9. —EE LUHREEREB 3 EA - RER 4 BFARBE—LEE - AT REEAE  2RIR19E 29 59
B 10 788 - BRREE 2 AA—EEE - EWRDERNREBRE - BEREES D2 EMMA ELEBHE ? (One
bridge can only allow 2 people to cross side by side. Now, 4 friends want to cross the bridge together. They
have different walking speeds: 1 minute, 2 minutes, 5 minutes, and 10 minutes. Each time, only 2 people can
cross the bridge, and they must walk at the same speed. What is the minimum time required for all of them to
cross the bridge?)

A.15

B.16

10. Kelvin B 12 #ig#s - HpA 1 2R  ESLLEEBEK - i RE-—2XN - RVBEEEZS PR - IMKHEN
R#& 2 (Kelvin has 12 coins, one of which is a counterfeit that is lighter than the others. He only has a balance
scale. What is the minimum number of weighing needed to find the counterfeit coin?)

A.2

11 —EEFERERME AR 12 EAKR - EREHS 4 E - EFEFERZSME ? (In a basket, there are apples
and pears, with a total of 12 fruits. There are 4 more apples than pears. How many apples are in the basket?)
A3

12. —@E#z () EU2ME3ER 13 EEHFE? (Anumber(  )multiplied by 2 and then added to 3
equals 13. What is this number?)

E=xE1:5



13. John BKtL Steve ZiE 3 BE - WK john —F (7 X ) #5#EE 210 & - 3P Steve —AHFEEZ /PR ? (IfJohn
reads 3 more pages each day than Steve, and John reads a total of 210 pages in a week (7 days), how many
pages does Steve read in a week?)

A. 175

B. 180

C.189

D.196

I
bl
(@)

14 SFSNBLEEES FIREE 2 BREE MANEREEST BAIFFLEHES(_ DFEM ? (The older brother
has more candies than the younger brother. After the older brother gives 2 candies to the younger brother,
they have the same amount of candies. How many more candies did the older brother originally have than the

younger brother?)

I3
bl

14

1582 5 -8 E=®RYFER TMAR () EFRENRMIL - (Using the number cards 2, 5, and 8, how many

different two-digit numbers can be formed?)

IS

b

1:6

1—(EEFREAERMA AHF10EKR MRIERE 68 IEEEL(E ? (There are apples and pears in a basket,
with a total of 10 fruits. If there are 6 apples, how many pears are there?)
A3

2—BETFERAKMEIK - AN ELLEIRZ 3 @ - MR —HB 21 B3 - BBEEFEEZ/MELIK? (There are
red balls and blue balls in a basket. The number of red balls is 3 more than the number of blue balls. If there are
21 balls in total, how many red balls are there in the basket?)

A7

3.Miss Chan B 20 A& #8FI9 D4 MA 4 ERR A BERRATLUFRIEAZE ? (Miss Chan has 20 books and wants
to divide them equally among her 4 friends. How many books can each friend get?)
A2



4.Kelvin B 12 #ig#s - HhA 1 NERE  BSHEBE - hRE—E2XW - RVBEFEL PR - IRKHENR
#% ? (Kelvin has 12 coins, one of which is a counterfeit that is lighter than the others. He only has a balance
scale. What is the minimum number of weighing needed to find the counterfeit coin?)

A2

5.John & XLt Steve ZiE 3 BE MR john —F( 7 X H:EZ 210 B HBEE Steve —FHFEEZ/VE ? (If John reads
3 more pages each day than Steve, and John reads a total of 210 pages in a week (7 days), how many pages
does Steve read in a week?)

A. 175

B. 180

C.189

D.196

IS
W
(@)

6.2 5 -8 E=RYFER -TALUARK () BEFEMMML - (Using the number cards 2, 5, and 8, how many
different two-digit numbers can be formed?)

EBE1:6

7TEBENERIT\ITEEEBR 160 T - REEZ D ?

The price of an item after a 20% discount is 160 yuan. What was the original price?

A.180 7T

B.190 75

C.200 7t

D.210 7t

3 .
E=

8—EEfE LUHEREEEBE 3 EA - IREA 4 BIFARBE—EEE - AP REEAR  2RIR1DE - 298 59
B 10 788 - BRREE 2 AA—EEE - EWRDERNREBRE - BEREES D2 EMMA ELEBHE ? (One
bridge can only allow 2 people to cross side by side. Now, 4 friends want to cross the bridge together. They
have different walking speeds: 1 minute, 2 minutes, 5 minutes, and 10 minutes. Each time, only 2 people can
cross the bridge, and they must walk at the same speed. What is the minimum time required for all of them to
cross the bridge?)

A.15

B.16

9.5 16 fE/NBEABER —5E -Ken WA EHA 6 f8/\BAK -Ken WAEEBEZ/ME/NBEA ? (There are 16 children standing



in a line. If there are 6 children to the left of Ken, how many children are there to his right?)

ExE:.9

I0=ERBESS AR KBS ; B HECE,; C:RBLAT- (D &S () BE- (Three
students are comparing their heights. A said: "I am taller than B."; B said: "I am shorter than C."; C said: "l am
tallerthan A" () is the tallest,and () is the shortest.)

Ex1:C

Zx2:8B

11BN mIE S AU E R  EREERRE T - MR — Bk R8s () @E#IK? (Thereare
four iron balls on each side of a seesaw, keeping it balanced. If one iron ball is removed, how many iron balls
are left on the seesaw?)

Zx1:0

12.Calvin REE=IZ S L—BIBEE 14 REMR - Calvin #—18EF=18Zx () BEM? (Calvinliveson
the third floor. He needs to climb 14 steps for each floor. How many steps does Calvin need to climb from the
first floor to the third floor?)

Z%x1:28

1BIE—RAFERA IR R () R UWBRBHR—RM3INE —HEE () 5 ? (To cut a piece of wood
into 3 pieces, how many times do you need to saw it? If each sawing takes 3 minutes, how many minutes will it
take in total?)

BE1:2

EE2:6

1.3 A% 20 EREEEXM IRSEMRZEEL 6 BA ZEVZEM(__ )MEM { Three teachers take 20 students
to go boating. If each boat can hold a maximum of 6 people, how many boats at least must be rented? )
EBE1:4

2H%EE HASEE 6B B () R&. () Re-

In a cage, there are chickens and rabbits. There are 5 heads and 16 legs in total. How many chickens and how
many rabbits are there?

Ex1:2

Ex1:3

3EBENEMIT\IEBREEBR 160 T - REBEX)?

The price of an item after a 20% discount is 160 yuan. What was the original price?
A.180 75

B.190 75

C.200 7t

D.210 7t

3 .
E=



4.Miss Chan B 20 A& #i8F9n 4t 4 EAAR SERATIMGEIZAE ? (Miss Chan has 20 books and wants
to divide them equally among her 4 friends. How many books can each friend get?)
A2

5—EfE LIWHIREERE 3 EA - REE 4 AFAKEE—LEE - tPALREEAE  DAH1HE - 298 59
B 10 788 - BRREE 2 AA—EEE - EWRDERNREBRE - BEREES VS EMMA ELEBHE ? (One
bridge can only allow 2 people to cross side by side. Now, 4 friends want to cross the bridge together. They
have different walking speeds: 1 minute, 2 minutes, 5 minutes, and 10 minutes. Each time, only 2 people can
cross the bridge, and they must walk at the same speed. What is the minimum time required for all of them to
cross the bridge?)

A.15

B.16

6.Kelvin B 12 MIE#S - HopB 1 2R - ESLLEBK - 1RAE-SXT - EOBEESZVR - AIHRBEENR
#% ? (Kelvin has 12 coins, one of which is a counterfeit that is lighter than the others. He only has a balance
scale. What is the minimum number of weighing needed to find the counterfeit coin?)

A2

7.—BIKE 20 & SEIR 5K SME 2 BARE 1K BHIKELEHE 20 KAREEB 81 kEMEE F2(_ )
4388 ? (A train has 20 carriages, each 5 meters long, with a 1-meter gap between each carriage. The train travels
at a speed of 20 meters per minute. How many minutes does it take for the train to completely pass through an
81-meter-long tunnel?)

Zx1:10

SHOAE—REBN—AIBE—HRABE—HEEM RER 12 KR8  LA/E 25 % SR ()
2K ? (A straight road in a central park has a crab apple tree planted at one end. Now, a crab apple tree is
planted every 12 meters, using a total of 25 trees. How long is thisroad ( )meters?)

EE1:288

93#ME 20-12-15-9-10-6~ ) -~ ()
Find the pattern: 20,12, 15,9,10,6,( ), ( ).
Ex1:6

s

Ex2:4



10—WEBERPHFEELM - 2185 120 A8 - IRTCAFEIEER 60 AR/ - BFEENRER 40 2B/ -
BEEMBEZEZNFHIEREZS D AE//NE? (A cartravels from point A to point B, covering a total distance of
120 kilometers. If the speed for the first half of the trip is 60 kilometers per hour and the speed for the second
half is 40 kilometers per hour, what is the car's average speed for the entire trip in kilometers per hour?)

A.48

B.50

11.Trump A& 24 A& - tt Biden % 6 & - #13R Biden 8B HE Trump —1&ZHE - Biden BEBEXEAE ? (Trump
has 24 books, which is 6 more than Biden. If Biden wants to have the same number of books as Trump, how
many more books does Biden need to buy?)

A6

12A5—ENME - BERFUHEFMLEEUHFSERTUHT  BUBFETUHFHNME - BEENUSE 6 WEE -
EEHEZD ?

Here is a four-digit number where the thousand's digit plus the unit's digit equals the ten's digit, the hundred's
digit is twice the thousand's digit, and the number is a multiple of 6. What is this number?

A. 2468

B. 2442

C.3461

D.4763

BE:B

B—ENEBREZENHEZR —KN 2 &  NMRE=XEIZT 8 1&&E - WEHE—KBIZz7ZMER?

A kitten eats twice the number of fish each day compared to the previous day. If on the third day it ate 8 fish,
how many fish did it eat on the first day?

Al

14MES TS T —HBES 49 -BPF 128537 12 FHRE () ®i# ? Aclock strikes 5 times at 5 o'clock,
taking a total of 4 seconds. How many seconds will it take to strike 12 times at 12 o'clock?

Ex.11



1E—ENUE - BRTUSEFMELEUHEFERTUET  BUHFSTUHEFHOME  BEENUEHE 6 HEH -
EEHEEZD ?

Here is a four-digit number where the thousand's digit plus the unit's digit equals the ten's digit, the hundred's
digit is twice the thousand's digit, and the number is a multiple of 6. What is this number?

A. 2468

B. 2442

C.3461

D.4763

EE B

2.Trump A 24 &E Lt Biden % 6 Z& 413 Biden 78#E B2 Trump —KZHE Biden BEBELAE ?( Trump has
24 books, which is 6 more than Biden. If Biden wants to have the same number of books as Trump, how many

more books does Biden need to buy?)
A6

33ME 20-12-15-9-10-6~ > ~ ()
Find the pattern: 20, 12,15,9,10,6,( ), ( ).

ExE1:6

Ex2:4

4 —3XE$ 20 & SEE 5K SME M 1 K BIKELUSHE 20 KAREES 8L kRENBE B2 )
4388 ? (A train has 20 carriages, each 5 meters long, with a 1-meter gap between each carriage. The train travels
at a speed of 20 meters per minute. How many minutes does it take for the train to completely pass through an
81-meter-long tunnel?)

Zx1:10

5.Kelvin B 12 #1g#s - Hh B 1 M2 R - ESEEBEK - thtRE-—SXN - ROVBERES PR IJUKEBRR
#% ? (Kelvin has 12 coins, one of which is a counterfeit that is lighter than the others. He only has a balance
scale. What is the minimum number of weighing needed to find the counterfeit coin?)

A2

6.HOABE—FEBN—AIBE—HRABE—HEEM RER 12 KR8 LA/ 25 % BRre ()
2K ? (A straight road in a central park has a crab apple tree planted at one end. Now, a crab apple tree is
planted every 12 meters, using a total of 25 trees. How long is thisroad ( )meters? )

EE1:288



7TE—ESE=ATHAR - U=EIRMESAENIRE  SH-KER  FEE-RESBERIN—ER - BERNIIR
AHHEEEE?

In the interior of an equilateral triangle, three lines are drawn with the vertices as their angle points, such that
these three lines intersect at a single point. How many ways are there to draw these lines?

Al

S—EHFHNEMNEE 3 - ECHNEUMEATUHIRUER - BIMELLREU) 36 - BEZHEZ D ?

Given a number whose units digit is 3, when the units digit and tens digit are swapped, the resulting number is
36 smaller than the original number. What is the number?

A.63

B.73

9. —HBFFHI&2 2,5, 10,17, 26, ..., #HERIEMEBIE, FEAMBELELD?

There is a number sequence: 2, 5, 10, 17, 26, ... According to this pattern, what is the sixth number?
A.37

B.43

10— M6 8 7 ZMHIR, WURERIE 5, SAZR S 2 [l GeRERIRE 7 8, meb5ME. sEErEeasaeb
fEZER?  (In a basket of apples, if you take out 5 at a time, there will be 2 left at the end; if you take out 7 at a
time, there will be 5 less than a multiple of 7. What is the minimum number of apples in the basket?)

A. 32

B.37

11.Peter f 16 JuH T F3C%, WIRFSCERBEMIEK 0.1 50, il A2 H 2 37, FARESCEREK R 2D I0?
Peter bought several pens for 16 dollars. If the price of each pen decreases by 0.1 dollars, he can buy 2 more
pens. What was the original price of each pen in dollars?

A.0.6

B.0.8



128 LAHETT, MrLee M 1240, S E oK, SRRASE T A8, FImAK, BEEHEE. M, Mrlee i
TKZIERFITZ? (Thereis one cup of apple juice. Mr Lee drank half a cup, then refilled it with water. He drank
half a cup again, refilled it with water, and finally drank it all. Did Mr Lee drink more water or more juice?)

A. K Water.

B. & Juice
C. —1%% Same
Ex:C

13.2 Lily Ko, M2, it 2 Tood s, 3 ThER, 4 Twms RS s, camdsEsTie
8 J7t, HURET 7 11 J0, WM& MNET 5 17 Jo. [l FFAHsRybhrfE T3 (D 88?2 (When visiting Lily's house,
she made a fruit salad for us. She mixed 2 kg of bananas, 3 kg of apples, and 4 kg of cantaloupe into the fruit
salad. Given that bananas cost 8 dollars per kg, apples cost 11 dollars per kg, and cantaloupe costs 17 dollars
per kg, what is the cost per kg of the mixed fruit salad?)

=13

1—EHFNEUHE 3 - SENEUSEHUHERBUER - SRNHLLRE) 36 - PEZHIEZ ) ?

Given a number whose units digit is 3, when the units digit and tens digit are swapped, the resulting number is
36 smaller than the original number. What is the number?

A.63

B.73

2E—E#FFIIZ 2,5 10,17, 26, ... - RBEERE  BRNEHFEZD?

There is a number sequence: 2, 5, 10, 17, 26, ... According to this pattern, what is the sixth number?
A.37

B.43

3—EEFEMNER  MRERMUES E - FERT 2@ ; IRSRNE 7@ - HE) 5 E - BEEFEEVEZLNE
#8R ? (In a basket of apples, if you take out 5 at a time, there will be 2 left at the end; if you take out 7 at a time,
there will be 5 less than a multiple of 7. What is the minimum number of apples in the basket?)

A. 32

B.37



4Peter H16 THE TETXE  NRBXENERERE0LT  MMINUZE 2 X - RREXZENEREZ VT ?
Peter bought several pens for 16 dollars. If the price of each pen decreases by 0.1 dollars, he can buy 2 more
pens. What was the original price of each pen in dollars?

A.0.6

B.0.8

58 1 MEERT - Mrlee BT ¥ - BEIMRK - RBRMNIE 7HK - BIEK  HEZEHIBT - B - MrLee 8K
KZIERRTZ ? (Thereis one cup of apple juice. Mr Lee drank half a cup, then refilled it with water. He drank
half a cup again, refilled it with water, and finally drank it all. Did Mr Lee drink more water or more juice?)

A. K Water.

B. &t Juice
C. —1%% Same
Ex:C

6.2 Lily Rt - h RFMBKRIDH - il 2 FREE - 3 TRER -4 TREBMVESRMIRDA - EMEESZ TR 8
7 HERESTR 1L T BWEBNETR 17 73 M FFMO T80 RETE () #? (When visiting Lily's house,
she made a fruit salad for us. She mixed 2 kg of bananas, 3 kg of apples, and 4 kg of cantaloupe into the fruit
salad. Given that bananas cost 8 dollars per kg, apples cost 11 dollars per kg, and cantaloupe costs 17 dollars
per kg, what is the cost per kg of the mixed fruit salad?)

=13

7Kelvin B 12 15§ - HthA 1 2R - BEELLEBE - 1 RE—2XT  RVBEFELOR - IHKEENR
#% ? (Kelvin has 12 coins, one of which is a counterfeit that is lighter than the others. He only has a balance
scale. What is the minimum number of weighing needed to find the counterfeit coin?)

A2

8—EHRBREAR 300K - A BMADRIREEMIGERLE - ER@MT 1 2#88 - EEEMIT 5 2ERILUE
tz -AEESR () X/9 BEEAR () K/9 - (Acircular track has a circumference of 300 meters. A
and B start simultaneously from opposite ends of a diameter. If they walk in opposite directions, they meet
after 1 minute. If they walk in the same direction, A catches up with B in 5 minutes. What are the speeds of A
and B in meters per minute?)

EE1:90

EE2:60

9.AB WA RISt 2% - ABEMIT - BEEEE 100 Tok - AR/NRIT 6 Tk - BE/NRBT 4 TR ABZE—IRG - 59
BB 10 Tk - BRAB A —EHLE - i3 B WEE - CHiEETE ABER - W2 A WKE - BXISRHAEB
EEh - HIMAEE BERE—#BT () TK? (AandB start simultaneously from two different places



and walk towards each other. The distance between them is 100 kilometers. A walks at 6 km/h, B walks at 4
km/h, and A has a dog that runs at 10 km/h. The dog starts with A and runs towards B. When it meets B, it turns
back and runs towards A, and when it meets A, it turns back towards B again. How many kilometers does the
dog run in total by the time A and B meet?)

Z%1:100

10—@EXM - PEEBEBRBE 10/N\FEE - JEBEBRBE 12/\FEE - IRMEBERFKRN - KOBES
D RFREER K ? (A pool can be filled in 10 hours by Pipe A alone and in 12 hours by Pipe B alone. If both pipes
are opened together, around how long will it take to fill the pool?)

A. 6 hours

B. 7 hours

C. 5 hours and 30 minutes

D. 4 hours and 40 minutes

Ex:.C

11.—EEAFEEZERIEM 50% - HNEBEZREENZ/DME ? (A square increases its side length by 50%. The
new area is how many times the original area?)

A 15

B.2

C.2.25
D.3

I
W
(@)

12 FMHE 45 BESE - 2NEEB/VANERE | 2MEENENE 20 A - 2MEZB/NENE 15 A - MIRHSMNE
8N -ME - 2ESMEMEBERBNANBEEFZ DA ? (There are 45 students in a class. The participation in
interest groups is as follows: 20 students participate in the math group, 15 students participate in the English
group, and 8 students participate in both groups. How many students do not participate in either of these two
interest groups?)

A.18

B.15

C12

11

I
i
>

13— E#SINAT=IRZE 2, 5, 10 - #EIRRIK - 8 —IHZR=IBMNF - BEAIREZ D ? (The first three terms of a
sequence are 2, 5, and 10. Starting from the fourth term, each term is the sum of the previous three terms.
What is the sixth term?)

A.56

B.57

C.58

D.59

=D

AERZHBERS  MREH S A - A5 14 ANRBKN ; MRS 7 A - AL 4 @K - 2ERES () 8-



B ( ) A (A school is arranging student dormitories. If 5 students are assigned to each room, 14 students
will not have a bed; if 7 students are assigned to each room, there will be 4 extra beds. How many dormitory
rooms does the school have, and how many students are there?)

Zx1:9

%%x2:59

15. 25— AEmAIEKTT 48 FoRTE 4 /I - HIK1T 48 TR 6 1\ - IRTEWMA LiF A BRI B 8 - SHmEB—EN
KERR 72 Tk - BMB—IREWEDNEIKE LA - BT BB KRB BEEA () TK? (Aboat
travels 48 kilometers downstream in 4 hours and 48 kilometers upstream in 6 hours. Now, the boat travels from
upstream port A to downstream port B. The waterway between the two ports is 72 kilometers long. When the
boat starts, a passenger throws a piece of wood into the water. How many kilometers is the wood from port B
when the boat arrives at port B?)

EZE .60

1—Ext  PEBBEBREBZE 10k JEBEBREE 12/\FEE - NRMESBERRK - KAFEZD
RS 2 (A pool can be filled in 10 hours by Pipe A alone and in 12 hours by Pipe B alone. If both pipes
are opened together, around how long will it take to fill the pool?)

A. 6 hours

B. 7 hours

C. 5 hours and 30 minutes

D. 4 hours and 40 minutes

BE:C

2—EEFEEEEBERIBM 50% HHEBERREENZ/MME ? (A square increases its side length by 50%. The new
area is how many times the original area?)

A 15

B.2

C.2.25

D.3

IS
W
(@)

3EVIHE 45 BEL - 2MESNENBERZ | 2MEE/NENE 20 A - 2I055E/0ENA 15 A - mIRESME
8N - ME - BESMEMEBERBNANEEFZ DA ? (There are 45 students in a class. The participation in
interest groups is as follows: 20 students participate in the math group, 15 students participate in the English
group, and 8 students participate in both groups. How many students do not participate in either of these two
interest groups?)

A.18

B.15

C12

11

I
il
>

4 —EH5IWAI=IRZ 2, 5 10 - #EBMNIERY - 8—HZA =AM - BERIEEZD ? (Thefirst three terms of a



sequence are 2, 5, and 10. Starting from the fourth term, each term is the sum of the previous three terms.
What is the sixth term?)

A.56

B.57

SERZHBLERS  MREHS A - BB 14 BRI ; MRSH 7 A - WIS 4 @K - 2kB5Es () B
B4 () A °(Aschoolis arranging student dormitories. If 5 students are assigned to each room, 14 students
will not have a bed; if 7 students are assigned to each room, there will be 4 extra beds. How many dormitory
rooms does the school have, and how many students are there?)

Zx1:9

%%x2:59

6.EH—REERAIEKTT 48 TR 4 /B - HIKIT 48 FoKEE 6 /NS - IRFEEwAE L A BEIT I B & - SHMEBR—R/
KERR 72 Tk - BMB—IREWEDNEIKE— LA - BT BB KRB BEES () TK? (Aboat
travels 48 kilometers downstream in 4 hours and 48 kilometers upstream in 6 hours. Now, the boat travels from
upstream port A to downstream port B. The waterway between the two ports is 72 kilometers long. When the
boat starts, a passenger throws a piece of wood into the water. How many kilometers is the wood from port B
when the boat arrives at port B?)

&E 60

7.—EFEERR 300K - A - BMASRREEMIEERKHE - BEREMT 1 2EHRE  EE@EMmT 5 2E#EFRaliE
tz -AgEESs () X/9 BEESR () K/9 - (Acircular track has a circumference of 300 meters. A
and B start simultaneously from opposite ends of a diameter. If they walk in opposite directions, they meet
after 1 minute. If they walk in the same direction, A catches up with B in 5 minutes. What are the speeds of A
and B in meters per minute?)

EE1:90

EE2:60

8.AB MIABRS{EMmit 3% - #A@mT - BEEEE 100 K - AB/NRT 6 oK - BEAORKITA TR ABE—FE 1
BT 10 FK - BRAB A —BHE - fE B WEHE - ERIEIREE A B2 - W2 A NRE - BXI=EHE B
EEN -HIMARER BRBE—H#M\T () FK? (AandB start simultaneously from two different places
and walk towards each other. The distance between them is 100 kilometers. A walks at 6 km/h, B walks at 4
km/h, and A has a dog that runs at 10 km/h. The dog starts with A and runs towards B. When it meets B, it turns
back and runs towards A, and when it meets A, it turns back towards B again. How many kilometers does the
dog run in total by the time A and B meet?)

Z%1:100

QIBYFEBHEN R - AT BRIEBSAIZ 8 T 10 7T - IHIFHAIEEE A MRIMIEE BARNITZE 3% WHR
BRI BEGE®7 () $#? (Mom goes to the supermarket to buy detergent. The unit prices of
detergent A and B are 8 dollars and 10 dollars, respectively. With the money she brought, she can buy 3 more

bags of detergent A than detergent B, and there is no money left. How much money did she bring?)



&%1:120

10EEAFARNERS 4 EX  IRBEITRK 4 BT AE/NEST - BESENESFEHBREZVEKR? (A
square piece of paper has a side length of 4 centimeters. If it is cut into 4 identical smaller squares, what is the
perimeter of each smaller square in centimeters?)

A4

11 —EEAFRERIGN 2 EXE - FNEATEBLERIESFEEA 36 FHEXK - RIEAFNEREZ ? (Theside
length of a square is increased by 2 centimeters, and the area of the new square is 36 square centimeters larger
than the area of the original square. What is the side length of the original square?)

A7

12.Trump RRFBRE - AI—FBESTE—FRERS - #ERORE - A1 1/3 HEERE - & 2/3 BELT - #R
EERWIBELEERMBNIEEZ 2 /0 - B4 Trump HTHNERESE/NE 5 FXK  REBEERE/N\E 15 K - BE
Trump #RFIERMEERE () FK? (Trump walks the first half of the distance from home to school and
takes a car for the second half. On his way back from school to home, he takes a car for the first third of the
time and walks for the remaining two-thirds. As a result, the time taken to go to school is 2 hours more than
the time taken to come back home. Given that Trump's walking speed is 5 km/h and his driving speed is 15
km/h, what is the distance from home to school (in kilometers)?)
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13.[E#E 100 >K - Biden 223 180 & - Kelvin 23 120 & - Biden 1 Kelvin RIREA @R —thEi L5 - IRSE—
S FAMISEAERE - ABEE Kelvin ZEH 450 SKEERE - BEE () HAHEBF Biden ? (Biden needs 180 steps
to walk 100 meters, while Kelvin needs 120 steps to walk the same distance. Biden and Kelvin start walking
from the same point in the same direction at the same time, with each step taking the same amount of time.
How many steps will Kelvin need to walk back to meet Biden after walking 450 meters forward?)
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